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Directions (1-5) : In each of
the following questions two/three
statements are given followed by two
Conclusions numbered | and I1. You
have to take the given statements to
be true even if they seem to be at
variance from commonly known
facts. Read both the conclusions and
then decide which of the given con-
clusions logically and definitely fol-
lows from the given statements dis-
regarding commonly known facts.

1. Statements

All beans are pulses.

All pulses are crops.

No crop is seed.

Conclusions:

I. All crops are pulses.

Il1. All beans are crops.

(1) Only Conclusion Il follows

(2) Neither Conclusion | nor

Conclusion Il follows

(3) Either Conclusion | or Con-

clusion Il follows

(4) Only Conclusion | follows

(5) Both Conclusion | and

Conclusion Il follow
2. Statements

No fruit is vegetable

All potatoes are vegetables.

Some fruits are apples.

Conclusions:

I. Some apples are potatoes

Il. Some potatoes being fruits

is a possibility.

(I)Both Conclusion | and

Conclusion 1l follow

(2) Only Conclusion Il follows

(3) Either Conclusion | or Con-

clusion Il follows

(4) Only Conclusion | follows

(5) Neither Conclusion | nor

Conclusion Il follows

3. Statements

All books arejournals.

All diaries arejournals.

Conclusions:

I. All journals are books.

Il. Some diaries being booksis
a possibility.

(1) Either Conclusion | or Con-
clusion Il follows

(2) Only Conclusion | follows

(3) Both Conclusion | and
Conclusion |l follow

(4) Neither Conclusion | nor
Conclusion 11 follows

(5) Only Conclusion |l follows

. Statements

No fruit is avegetable.

All potatoes are vegetables.

Some fruits are apples.

Conclusions:

I. No fruit is a potato.

Il. Atleast some apples are
fruits.

(I)Both Conclusion | and
Conclusion Il follow

(2) Either Conclusion | or Con-
clusion Il follows

(3) Only Conclusion |l follows

(4) Neither Conclusion | nor
Conclusion Il follows

(5) Only Conclusion | follows

. Statements

All beans are pulses.

All pulses are crops.

No crop is a seed.

Conclusions:

I. No seed is a bean.

I1. No bean is a pulse.

(I)Both Conclusion I and
Conclusion Il follow

(2) Neither Conclusion | nor
Conclusion Il follows

(3) Only Conclusion | follows
(4) Either Conclusion | or Con-
clusion Il follows

(5) Only Conclusion Il follows

6. Read the given statements

carefully and answer the
question given below :
The project of the road
construction (work) has;
crossed its first deadline as fa
as pre-monsoon road works
are concerned. In the magor
city the road works are given
great emphasis and these ae
the places where road work hes
been completed.

Which of the following can be

concluded from the statements

given above ?

(I)The start the work of the
road one has to go through
alot of tiresome paperwork
before starting the repair
work which delays the
whole work of the road.

(2) It takes several hourswhile
travelling via these roads
(3) The work of the road is go-
ing on
(4)They will start the road
works well in advance
(5) None of these
Directions (7-8) : Read the
following information carefully and
answer the questions which follow:

Supermarkets are growing at a
fast pace than Kirana Stores.
Kirana Stores are such places where
customer go to purchase their ne-
cessities. In place of five Kirana
stores one or two supermarkets are
being established. It has been found
that customers' requirements are
looked after by trained staff. It has
been found that food products are
low life products which are manu-
factured from local manufacturers.
These products are typically pur-



chased by the customer on the as-
surance. The market is appealing to
supermarkets and retail outlet own-
ers are setting up their business in
other areas where there are less
Kirana stores.

7. Which of the following can be
a good argument in favour of
shopping from Kirana stores
instead of supermarkets ?

(1) People prefer supermarkets
because they offer a larger
range of products, i.e, prod-
ucts other than FMCG and
they can buy everything
under one roof.

(2) People end-up buying oth-
er irrelevant things along
with those on their shop-
ping lists in Supermarkets
and then they have to stand
in long queues at the bill-
ing counters.

(3) Most Kirana stores are
closed atleast one day in a
week whereas supermarkets
are open 365 days ayear.

(4) Kirana stores do not accept
debit and credit cards.

(5) Very few Kirana stores sell
products at a bargained

price.
8. Which of the following can be
inferred from the given

information? (An inference is

something that is not directly

stated but can inferred from
the given information).

(1) Most supermarkets and re-
tail outlet owners chooseto
set up businesses in areas
that have very few Kirana
stores.

(2) People tend to trust retail
outlets and supermarkets
when it comes to buying
high value products as op-
posed to buying them from
local shops.

(3) If there are two or more
Kirana stores in a typical
residential area the compe-
tition among them is very
high.

(4) Kirana stores owners are
vying to acquire franchisee
of supermarkets as the lo-
cal shops have lost their
charm and business.

(5) Kirana stores do not sell the
products which consumers
have on their regular shop-
ping lists, so they have to
depend on supermarkets.

Directions (9-11) : Read the

following information carefully and
answer the questions given below :

Among five persons - P, Q, R,

S and T— each has different height.
Only two persons are shorter than
S. T is shorter than S but taller than
R. The one who is the second tall-

est among them is of 158
centimetre.
9. Which of the following

statements is definitely true
with respect to the given
information ?

(1) R is definitely 150 cm

(2) None of the given state-
ments is true

(3) T is shorter than S

(4)Q is shorter than S

(5) Pis possibly 153 cm

10. Which of the following is
possibly the height of Q ?
(1) 148cm (2) 156 cm
(3) 152cm (4) 150cm
(5) 158 cm
11. How many persons are shorter
than Q ?
(NTwo (2) Three
(3) Four
(4) Cannot be determined
(5) One

Directions (12-13): Read the
following statements carefully and
answer the questions given below :

Mobile technology has played
great role in growth and develop-
ment of society. Earlier cellphone
was used as a medium of conversa-
tion only. Now mobile phones also
support awide variety of other ser-
vices, such as, texting, email,
internet access etc. The price of
mobile phones is also decreasing

and people are being encouraged to
buy a mobile phone set at a cheaper
rate. The mobile technology and
smartphones have the capabilities
of handling video calls, sharing
large files. Mobile technology had
made it more efficient to conduct
business. Video calls and taking
photographs have become possible
as mobile phone has in built cam-
era. Therefore, there is no need to
carry around a camera everywhere
you go.

12. Which of the following cannot
be inferred from the given
information ? (An inferenceis
something that is not directly
stated but can be inferred from
the given information).

(1) One can share photos and
videos via mobile phones
provided that the other per-
son has a similar device.

(2) Many features are being
added to mobile phones
now-a-days

(3) The other features of mo-
bile phones are not as use-
ful as the built in camera

(4) Mobile phones can be used
for purposes other than
making calls

(5) Technological advances are
taking place in fields other
than cellphones as well

13. Which of the following can be
concluded from the given
information ?

(1) Buying aphonewith acam-
erais more convenient than
buying two different devic-
es

(2) Mobile phones that are ba-
sic last longer than the ones
with added features

(3) Not many people are inter-
ested in clicking pictures
with mobile phones

(4) 1t is possible to share pic-
ture with someone having
a similar camera

(5)No one will buy cameras
now onwards



Directions (14 - 15) : Study

the following information to answer
the given questions :

'"TRAVEL' is related to 'UD-
KUSB' and 'CORNER' is related to
MDQDPS'.

14. 'SURVEY'isrelated to .

(HUDXSTV

(2) UXDTSV

(3) TVSUDX

(4) UDXTVS

(5) UDXVTS
15. GROUPS' isrelated to_ .

(1) TORHSP (2) TOHRSP

(3) TORPHS (4) ROTHSP

(5) ROTPHS

Directions (16-20): Study the

following information to answer the
given questions :

In acertain code '8 2 9' means

'how art thou,"' '9 5 8 means 'thou
art good' and '1 5 8 7 3' means 'thy
good and thou bad'.

16.

17.

18.

19.

20.

21.

What may be the possible code

for 'thy' ?
()1or7 (2)7
33 @5

(5) L or 7o0r3

What is the code for 'thou' ?
(1)9 (2)8

3 2 4)5

(5) None of these

What is the code for 'how' ?
(1)5 (2)8

3 2 4)9

(5) None of these

Which of the following may
possibly be the code for 'thou

no good' ?
(1)5 08 (2)780
(3)507 (4)780

(5) None of these

What is the code for 'how good
thou art' ?

(1)7589 (2)8295
(37183 (48795

(5) Cannot be determined
Effect : The temple at the
religious site wears a deserted
look with the number of
devoteestricklingdown.
Which of the following can be
a possible canse of the above
effect?

22.

23.

(1)A structural engineer had
visited the temple a month
back and had declared the
structure unsafe.

(2) Thetempleisfacing adras-
tic depletion of its funds
which had accumulated
over the years due to offer-
ings made by devotees.

(3) The local corporation de-
cided to donate a huge
amount of money to the
temple for its renovation.

(4) The village housing the re-
ligious site has qualified
priests to perform religious
ceremonies.

(5) A famous actor recently vis-
ited the temple and paid his
respects to the deity.

Statements : The Income Tax
authorities carried out raids at
three different business houses
in the city last week.

Which of the following can be
a possible effect of the above
statement ?

(1) T he three business houses
are regular defaulters in
payment of their income
tax.

(2) ThelncomeTax department
had received atip off about
the illegal activities going
on in the three business
houses.

(3) The Government decided to
look into the matter and
has appointed an inquiry
committee.

(4) Other business houses took
immediate action to clear
off all their income tax dues
in order to avoid araid on
their establishments.

(5) The authorities intend to
conduct raids in several
other business houses in
the vicinity.

Effect : As a step to regulate

private hospitals, the state

health department is framing
rules to ensure all such hos-
pitals are registered with it.

Which of the following can be

a possible cause of the above

statement ?

24.

25.

(1) The department realised the
private hospitals charge
much less for treatment as
compared to government
hospitals.

(2) Government run hospitals
do not maintain the sme
standards as private hospi-
tals.

(3) The department reaised
that several hospitals wae
rejecting cases stating lack
of infrastructure.

(4) Apart from the number of
doctors, nurses and beds,
the kind of procedure ahos
pital can carry out based on
its infrastructure will d=
be registered and detailed,

(5) Private hospitals nor regis
tering with the department
shall be forced to do so ad
will have to pay hefty par+
alties.

Statement: Theconstable hes
been recommended for a suit-
able reward by his superior tn
recognition of his sincere duy
and busting of several gangs of
criminalsactively involvedin
the loot and incidents of pidk-
pocketing.

Which of the following can be

a possible assumption of the

above statement ?

(1) The superior is certain thet
therecommendationwoud
be denied.

(2) Thenumber of criminals g
prehended by this particu-
lar constable was excep-
tionally high.

(3) Theconstabledesiresto be
monetarily compensated
for his efforts.

(4) The superior wants to st
an example for his oher
juniors by recommending
the reward.

(5) Rewards recognising the
sincerity and accomplish-
ments of policemen ae
given.

Statement : The college hes

finally received accreditation

and has gained the status of a

deemed university.



Which of the following can be

a possible effect of the above

statement ?

(I)The principal of the college
will now have to be aretired
government official.

(2) Number of students seeking
admission to this collegein
the next academic year
would drop significantly.

(3) Thecollegewill charge lesser
fees from all its students
despite not getting a grant
from the government.

(4) The college will reduce the
number of courses that it
runs by a significant mar-
gin.

(5) The reputation of the col-
lege amcngst the student
population in general has
improved.

Directions (26-27) : In these
questions, relationship between dif-
faent elements is shown in the
statements. These statements are
falowed by two conclusions.

Mak answer If
(@D Only conclusion |
follows.
2 Only conclusion |1
follows.
(3) Either conclusion |

or Il follows.

4 Neither conclusion |
nor Il follows.
(5) Both conclusions |

and |l follow.
26. Statement :E<F<G=H>5

Conclusions :

I. G>8

II. FgH
27. Statement :P<Q <W-=L

Conclusions :

I. L>P

. @<L

Directions (28 - 30) : Study
the following i nformation to answer
the given questions :

A word and number arrange-
mat machine when given an input
line of words and numbers rear-
ranges them following a particular
rde Thefollowingisanillustration
of input and rearrangement.

(All numbers in these ques-
tions are two digit numbers)

I nput

Step

Step

Step

Step

StepV

Step VI

StepV11:

Step V11

Step

Step X

Inpu

28.

29.

30.

: 16 today 32 waiting 21 are
11 people 46 bus 66 long
I : 16today 32waiting2111
people 46 bus 66 long are
Il : 16 today 32 waiting 21
people 46 bus 66 long 11
are
: 16 today 32 waiting 21
people 46 66 long bus 11
are
today 32 waiting 21
people 46 66 long 16 bus
11 are
. today 32 waiting people 46
66 21 long 16 bus 11 are
: today 32 waiting 46 66
people 21 long 16 bus 11
are
today waiting 46 66 32
people 21 long 16 bus 11
are
: waiting 46 66 today 32
people 21 long 16 bus 11
are
: waiting 66 46 today 32
people 21 long 16 bus 11
are
: 66 waiting 46 today 32
people 21 long 16 bus
11 are
Step X is the last Step of the
arrangement of the above in-
put as the intended arrange-
ment is obtained.
Now, answer the questions
based on the following input :
t : 23 you 13 wake 81 me
43 before 72 go 34 up
Which of these words /num-
berswould be fourth (from left
side) in Step 1V for the input ?
(1) me (2) 43
(3)81 (4) wake
(5) None of these
Thefollowing stands for which
step of the rearrangement ?
you wake 81 43 72 34 up me
23 go 13 before
(1) Step IX (2) Step IV
(3) Step VI (4) StepV
(5) None of these
Which of the following would
be Step Il for the above input ?
(1) 23 you wake 81 me 43 72
34 up go 13 before
(2)23 you 13 wake 81 me 43
72 go 34 up before

1V:

IX

(3) 23 you wake 81 me 43 72
go 34 up before 13
(4) 23 you wake 81 me 43 72
.go 34 up 13 before
(5) None of these
Directions (31 - 35) : Below'is
given apassage followed by several
possible inferences which can be
drawn from the facts stated in the
passage. Y ou have to examine each
inference separately in the context
of the passage and decide upon its
degree of truth or falsity.

Mark answer (1) If the infer-
enceis " definitely true" i.e. it prop-
erly follows from the statement of
factsgiven.

Mark answer (2) If the infer-
enceis" probably true" though not
"definitely true" in the light of the
facts given.

Mark answer (3) If the data is
inadequate i.e. from the facts giv-
en, you cannot say whether the in-
ference is likely to be true or false.

Mark answer (4) If the infer-
enceis" probably false" though not
"definitely false" in the light of the
factsgiven.

Mark answer (5) If the infer-
enceis " definitely false" i.e. it can-
not possibly be drawn from the facts
given or it contradicts the given
facts.

(Note : Each of the five ques-
tions has only one distinct answer
i.e. no two questions can have the
same answer. If you get the same
answer for more than one question,
consider both again and decide
which one of the two would more
definitely be that answer and in the
same way review the others also.)

Cardiovascular disease is so
prevalent that virtually all business-
esarelikely to have employeeswho
suffer from, or may develop, this
condition. Research shows that be-
tween 50-80 per cent of all people
who suffer a heart attack are able
to return to work. However, this
may not be possible if they have pre-
viously beeninvolved in heavy phys-
ical work. In such cases, it may be
possible to move the employee to
lighter duties, with appropriate re-
training where necessary. Similar-
ly, high-pressure, stressful work,



even whereit does not involve phys-
ical activity, should also be avoid-
ed. Human Resource managers
should be aware of the implications
of job roles for employees with a
cardiac condition.

31. Employeeswho suffer from car-
diovascular disease are most-
ly unable to return to work.
Employees suffering from Car-
diovascular diseases are un-
able to handle stressful situa-
tions.

Employees above the age of 50
are found to suffer from car-
diovascular disease.

Physical and stressful work
definitely leads to a heart at-
tack.

Heart disease can affect em-
ployees in any type of busi-
ness.

Directions (36 - 40) : Study
the following information to answer
the given questions :

J P Q R, S T, UandV ae
four married couples sitting in acir-
cle facing the centre, The profession
of the males within the group are
lecturer, lawyer, doctor and scien-
tist. Among the males, only R (the
lawyer) and V (the scientist) are sit-
ting together. Each man is seated
besides his wife. U, the wife of the
lecturer is seated second to the right
of V. T isseated between U and V. P
is the wife of the doctor. Q is not
the doctor. S is amale.

36. Which of the following is P's
position with respect to S ?
(1) Second to the right
(2) Second to the left
(3) Immediate right
(4) Immediate left
(5) Third to the left

37. Which of the following is Js
position with respect to T ?
(1) Third to the left
(2) Fourth to the right
(3) Third to the right
(4) Opposite T
(5) Second to the right

38. Which of the following is not
true regarding the couples ?
(I)Pis the wife of S
(2) T is the wife of Q

32.

33.

34.

35.

(3) Ris the husband of J

(4) J and S are seated adjacent
to each other

(5) All are true

39. The wives of which two hus-
bands are immediate neigh-
bours ?

(1HUT (2)SR
3)va (4)RV

(5) None of these

Four of the following are alike
in a certain way based on their
seating position in the above
arrangement and so form a
group. Which is the one that
does not belong to the group?

40.

(1'RSJ (2)TRV
(3) UTV (4) SQP
(5 UPQ

Directions (41 - 44) : Study
the following information to answer
the given questions :

Sevenfriends, T,U,V, W, X,Y
and Z are sitting in a straight line
facing north. W sits fifth to the right
of T. W does not sit at any of ex-
treme ends. Two people sit between
Z and X. Y sits third to the left of
U. Y sits exactly in the middle. Z is
not an immediate neighbour of Y.
41. What is Z's position with re-

spect to W ?

(1) Second to the left

(2) Third to the right

(3) Fourth to the left

(4) Third to the left

(5) Fourth to the right

42. Who is second to the right of
T?
(L)Y (20C
3 v 4 Vv

(5) None of these

43. Four of the following five are
alike in acertain way besed on
their seating positions in the
above line and so form a
group. Which is the one that
does not belong to the group ?

(1) uw (2) XV
3 zT (4) YV
(5) WX

44. |If al the seven friends are made
to sit alphabetically from right
to left, positions of how many

will remain unchanged ?

(1) None (2) One
(3) Two (4) Three
(5) Four

Directions (45 - 57): Read the
given statements carefully and an-
swer the questions which follow.
45. After the government an-

nounced a compensatory poli-
cy for farmers in return for the
acquisition of their land, the
farmers demanded a written
proof of the policy.

Which of the following could

possibly be a Cause for de-

manding the written proof ?

(1) The farmerswere unable to
contest the inadequate
compensation for their
land in earlier such poli-
cies.

(2) The compensation promised
in the policy was grossly in-
adequate.

(3) The farmers were unwilling
t6 surrender their lands to
the government.

(4) The farmers demand acer-
tain-percentage of share out
of the revenue generated by
the government off their
lands.

(5) The only option to enforce
the government officials to
frame a compensatory pol-
icy for the farmers was to
demand a proof.

The number of cases concern-

ing a non-contagious chemi-

cal poisoning is on the rise
among local villagers.

Which of the following could

possibly be a Cause of the

statement given above ?

(1) Thegovernment has ordered
an immediate enquiry into
the matter.

(2) Unless timely treatment is
provided to the patients, the
poisoning can prove to be
fatal .

(3) Many factories surrounding
the village do not dispose
off their wastes appropri-
ately.

(4) The only hospital in the
areais not equipped to treat
chemical poisoning related
ailments.

46.



47.

(5) A study done a couple of
years ago had reported that
a large number of farmers
had stopped using chemi-
cal fertilizersowing to their
ill-effects on health.

Small grocery shop owners

have gone on a day's strike in

order to protest against the
entry of a foreign retail store
chain in the city.

Which of the following state-

ments can be an Effect of the

statement given above ?

(1)The small grocery shop
owners perceive the big re-
tall giants as sharks, try-
ing to dominate the avail
able market space.

(2) Foreign investment in retail
has shown a tremendous
growth in Indiasince a cou-
ple of years.

(3) There have been several
countries in which retail
chain giants have totally
wiped out small scale gro-
cery shops.

(4) The government agreed to
take all political steps re-
quired to safeguard the in-
terests of small scale retail-
ers.

(5) A recent survey indicated
that a large number of peo-
ple prefer to buy their daily
grocery items from the
nearby grocery stores rath-
er than big retail chain
stores.

Directions (48- 50): Read the

following statements carefully and
answer the questions which follow.

48.

The ministry of sports has
been advised by a committee
to take the highest award in
the field of sports back from
two playerswho were all eged-
ly-involved in match fixing.
Which of the following state-
ments would weaken the ar-
gument put forward by the
committee to the sports min-
istry ?

(1) A good conduct in the past
and a lack of evidence
against the players make
the case against them very
weak.

49.

(2) The ministry of sports has
never declined the recom-
mendations made by the
committee earlier.

(3) Taking the award back from
the playerswould set agood
exampleto other players for
avoiding such actionsin the
future.

(4) There have been past cases
where the award had to be
taken back from the play-
ers owing to some miscon-
duct later on.

(5) The committee is constitut-
ed of some of the most re-
spected and esteemed mem-
bers from the fields of sports
and politics.

M any organizations have been
resorting to recruitment based
upon performance at gradu-
ate/post-graduate level exams
rather than conducting exams
for the same purpose.

Which of the following state-

ments would strengthen the

argument given in the above
statement ?

(1)A recent study shows no
link of past performance
with the performancein re-
cruitment exams.

(2) The graduate/post-graduate
exams are considered to be
severely deficient in train-
ing injob related environ-
ment.

(3) Organisations which had
undertaken recruitment on
the basis of graduate/post
graduate exams report asig-
nificant drop in the quality
of the recruited employees.

(4) Such policies would add to
unemployment among stu-
dents having below average
performance in graduation
or post-graduation.

(5) Such policies could save
time, money and resources
of the organisation which
are wasted in the conduct
of recruitment examina-
tions.

50. According to a recent govern-

ment directive, all bank
branches in rural areas should
be computerized.

Which of the following state-
ments would weaken the gov-
ernment's argument ?

(1) Computerisation of bank
branches in urban areas
has helped in making their
performance more efficient
and fast.

(2) Lack of skilled and quali-
fied manpower has been
suitably substituted by com-
puters in banks.

(3) Non-computerised bank
branchesin therural areas
have been proved to be as
efficient as their computer-
ized counterparts.

(4) The government has intro-
duced a special test for
computer knowledge in all
recruitment exams for
banks.

(5) Unemployment in the ru-
ral areas could be controlled
by training more and more
professionals in computers.

QUANTI TATI VE APTI TUDE

51. A 320 metre long train crosses

52.

apole in 50 seconds. What is
the speed of train ?
(1)4.6m/sec (2) 7.2m/sec
(3)5.4m/sec (4) 6.4 m/sec
(5) Cannot be determined

In a school some sweats were
to be distributed among 420
children on the occasion of
Teacher'sday. But 140 children
remained absent on that par-
ticular day and hence each
child got one sweat extra. How
many sweats each child would
have got originally ?

(1) Cannot be determined
(2)2 (35

(44 (51
Directions (53-57) : In the

following questions information
about number of candidates inter-
viewed by five commercial firms on
different working days has been pro-
vided. You are required to read the
table carefully and answer the ques-
tions given below :



Number of candidates inter -

viewed by five firms on different

workingdays

Firms

Working A B | C D | E

Day

Monday 17/ 18| 23

25| 18

Tuesday 21| 19| 14| 28| 25

Wednesday| 23| 22 | 23| 12| 18

Thursday | 24| 14| 12| 23| 18
Friday 100 10| 16| 15| 22
Saturday 17) 26 | 20| 20| 24

53.

54.

565.

56.

57.

What is the respective ratio
between the number of candi-
datesinterviewed by firm D on
Friday and Saturday together
and that of candidates inter-
viwed by firm B on the same
days?

(1)35:38 (2)39:40
(3)43: 44 (4) 45 : 46
(5) 35 : 36

The number of candidates in-
terviewed by firm C on
Wednesday iswhat per cent of
total number of candidates
interviewed by all the firmson
the same day ?

(1)24 (2)23

(3) 38 (4) 29

(5) None of these

In which firm the number of
candidates interviewed de-
creased consistently from
Monday to Saturday ?

(1)B (2) None
(3D (4 C
(5) A

What is the number of candi-
dates interviewed by all the
firms on Monday ?

(1) 101 (2) 102
(3) 114 (4) 98
(5)96

By what per cent the number
of candidates interviewed by
firm E on Tuesday increased
with respect to that of inter-
viewed on the preceding day ?

(1)45 (2)26
(3)61 (4)56,,,"
(5)39

In how many ways the letters
of the word VISITING can be
rearranged ?

(1)6720 (2)5720

(3) 720 (4) 7620

(5) None of these

Directions (59-64) In the

following pie-chart per cent of stu-
dents enrolled in different cultural

activities of a school

has been

shown. You arerequired to study the
pie-chart carefully and answer the
questionsgiven below :

59.

60.

61.

62.

63.

Number of students = 1800

What is the number of stu-
dents who opted for dancing ?
(1)648 (2)684

(3) 864 (4) 664

(5) None of these

What is the respective ratio
between the number of stu-
dents who opted for painting
and that who opted for Karate?
(1)3:7 (2)5:16

(3) 16:5 (4)5 :7

(5) None of these

By what per cent is the num-
ber of candidateswho opted for
music more than those who
opted for sports ?

(1)30 (2)55

(3) 45 (4) 60

(5) None of these

How many students have opted
for cricket and painting to-

gether ?
(1)702 (2)602
(3) 660 (4) 645

(5) None of these

By what per cent is the num-
ber of students who opted for
cricket and dancing together
more than those who opted for
painting and music together?
(1) 145 (2) 125
(3)16.5 (4)21.5

(5) None of these

64.

What istherespective ratio be-'
tween the number of students
who opted for dancing and ka-
rate to those who opted for
painting ?

(1)2:3 (2)1:3
3)3:1 (4)3:2

(5) None of these
Directions (65-69) : What

value should cgme in place of the
questions mark (?) in the following
guestions ?

65.

66.

67.

68.

69,

18.5x21.4x7=6255.22

(1) 15.8 (2) 14.6
{3)17.4 o172

(5) 16.4

1.5x78+05="2

(1)238 {2) 234

(3) 243 (4) 2186

(5) 261

302.46 + 395.72- 123,47 ="
{1)576.77 {2)547.17
{3)547.77 {4)574.71
{5)577.71

Y1006 - ¥64 =7

(116 (2)8

(3)64 4) Ja

(5)4

? 9 of 800 =293 -'22% of 750
14 (2) 18

3) 12 {4) 16

()20 :

Directions (70-74): In the fol-

lowing table, the number of employ-
ees working in five companies and the
corresponding ratio of male and fe-
mal e employeeshavebeen given. You
are required to study the table care-
fully and'answer the questions :

Company Number of
Employees

L 400

M 600

N 800

o 1000

P 1200

Company | Male |Female

L 12 8

M 15 5

N 4 1

o 13 12

P 7 5




